1.) The product of a Diels-Alder reaction is always                                                     .
2.) An electron rich                            and an electron poor                                        are needed for the Diels-Alder reaction.

3.) The Diels-Alder reaction is a                                            reaction.  This means that all bonds break and all bonds form in one step therefore, there is no intermediate.

4.) Describe what must happen in the transition state in order for a Diels-Alder reaction to occur.

5.) The Diels-Alder reaction is                                                       .  This means that cis and trans geometry are conserved during the reaction.

6.) What is the endo rule?  How would you demonstrate in your product that you have observed the endo rule?

7.) Conjugated dienes must have or must be able to adopt what type of conformation in order to participate in the Diels-Alder reaction?

Predict the products of the following reactions.
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Predict the reactants for the following products.
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